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1.  Which of the following is NOT a provision of the Articles of Confederation?
· Each state has one vote
· The central government had the power to tax the states

· The central government could declare war only if nine states agreed

· No state could be represented by more than seven members
2.  Which of the following was NOT a weakness of the Articles of Confederation?
· There was no executive branch to enforce laws.
· It was too hard to amend and change laws.
· The national government had too much power.

· There was no judicial branch to interpret laws.
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Articles of Confederation


Article V


No state shall be represented in Congress by less than two or more than seven members … each state shall have one vote


Article VIII


All charges of war, and all expenses incurred for the common defense or general welfare shall be paid out of a common treasury, which shall be supplied by the states


Article IX


The United States … shall never engage in war … nor enter into treaties or alliances, nor borrow money … unless nine states agree.











